Three times a

Subtract | from both

number, increased 3n+1 =25 X=8 sides, then divide
by 1. ir 25. both sides by 3.

If 3 ir added to twice Subract 3 from both
a number, theresult (3 + 28 =17 X=17 sides, then divide

ir 117. both sides by 2.

3 more than sin times (3 +b6n =15 n=12 Subtract 3 from both
a numberis I5. sides, then divide

both sides by b

When a number is nN+8=13 nN=3,5 Subtract 8 from both

increased by 8. the
resultis 13,

sides.




four times a number,
increased by 3. is the
same as twice the

Subtract 2x from both
sides. then subtract 3
from both sides. Then.

A + 3 =2% + 9 X=13
number. divide both sides by 2.
Three times a number,
increased by 7. gives Subtract 3n from both
the same result as four Sa+7=1"n+5 n=2 sides, then subtract 5
times the number, from both sides.
increased by 5.
If 7 isr added to twice a Subtract n from both
number. the result is the sides. then subtract 7
same asif 111saddedlo (g0 4 7= a4+ 11 n=a4 from both side.
the number.
3 more than five times a Subtract 2x from both
number, is the same as sides. then subtract 3
18 more than twice the 3 +5x= 18+ 2 X=35 from both sides. Then.,

number.

divide both sides by 5.




